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V. EVIRERR

(1) FBRK

(QE27EE)
( /mL)

E F& %

10

Aphanocapsa spp.

10

Oscillatoria spp.

Lhormidium _tenue

E B H

32

10

508 910 146

Asterionella spp.

[=2]

50 498 34

Aulacoseria spp.

Cocconeis  spp.

Cyclotella spp.

[ e

454 350 10

Cymbella spp.

Diploneis spp.

BININ N

Fragilaria spp.

Gomphonema  spp.

Gyrosigma spp.

~

Melosira varians

Navicula spp.

20

Nitzschia acicularis

Nitzschia spp.

Pinnularia spp.

Rhoicosphenia spp.

Synedra _acus

18 8

& %

12

Actinastrum spp.

Ankistrodesmus spp.

Chlamydomonas  spp.

N
N

Coelastrum spp.

Dictyosphaerium spp.

Eudorina spp.

Golenkinia spp.

Micractinium spp.

Pediastrum spp.

Scenedesmus — spp.

Sphaerocystis spp.

Staurastrum spp.

letraspora spp.

7V 7" NEJE

22 64 0

|Cryptomonas — spp.

(o)

22 64

# & &E &

|Jinobryon  spp.

R

274

60

42

40

94.2

544 990 150

(2) FeLEK

(QE27EE)
( /mL)

E & B

Achnanthes spp.

Asterionella spp.

Aulacoseria spp.

Cyclotella spp.

Cymbella spp.

Navicula spp.

Nitzschia spp.

Pinnularia spp.

Rhoicosphenia spp.

Synedra _ulna

I S

Cosmarium spp.

Staurastrum _spb.

o

34









